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MA310 ROIN0. : .cccoceierecciccannss
Spl. 2020
INDUSTRIAL ENGINEERING & TRANSPORT
MANAGEMENT
Fraifa @ . fRwR) [FAferhan 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70

P () vymyeTFAar 8, 994 3 fa IR & IR G |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(i) NIF I F G} 9 ) FHAR U G1Y & Hiford |
Solve all parts of a question consecutively together.
(iii) T% 594 F1 79 98 8 IREY Fifd |
Start each question on fresh page.
(iv) @l AT § iR g @ et 7§ 37 S3are @ A E |

Only English version is valid in case of difference in both the languages.

1. (1) =fadysn e
(a) Tt am (b) HrEwI® &
(c) UEHKI & (d) I9s |t

What are the different type of ownership ?
(a) Private Enterprises (b) Public Sector Enterprises
(c) Co-operative Enterprises  (d)  All of the above

@ WEFEREE:
(a) HfegAar (b) TG bR HTT
(© (@ (b (d) wErpfd
Qualities of leadership are
(a) Intelligence (b) Acceptance of Responsibility
(©) (a) & (b) both (d) Sympathy

(10f8) P.T.O.
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Ya-4H % 91 IgE % F 12 ?

(a) Fore, Scare, A, THEE (b)) Seared, e, féee, @
() T, anen, Frdem, friaw () FriEw, e, &, o
What are the four main functions of Management ?

(a) Finance, Production, Profit, Loss

(b) Production, Planning, Direction, Profit

(c) Planning, Organising, Directing, Controlling

(d) Controlling, Organising, Profit, Finance

s worgll H YT 1 ST 1 @ 7

(a) TUISH UL T (b) = AT H YR T
(¢) (a)Wd (b) T (d) aTehd & IR T

What is the basis of payment on daily wages ?

(a) Based ontime (b) Based on quantity of work
(c) Both(a) & (b) (d) Based on strength
I i 73 et Hifa St arwon g3 off

(a) 1992 (b) 1995

(c) 1991 (d) 1994

New Industrial Policy of India was announced in

(a) 1992 (b) 1995

(c) 1991 (d) 1994

NRDC #12 ?

() UFmEAwEfmEfm (b)) e faem

(c) g FrgEy wd fambra fom (d) ¥ srgEa w e fm
What is NRDC ?

(a) National Organising & Development Corporation

(b) National Development Corporation

(¢) National Research and Development Corporation

(d) National Research and Directing Corporation

1Y Je frrd w1a (SIDO) % 3rdttd feha o1y IeRT Ha HE 3T @ ?

(a) 26 (b) 28
(c) 25 d 20
How many Small Industries Service Institute comes under SIDO ?
(a) 26 (b) 28

© 25 (d 20
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(8) et [ = i @ A W A
(a) ufETeH (b) ufEEd
(c) Tligm d) <
The symbol [___] in process chart stands for
(a) Operation (b) Transportation
(¢) Inspection (d) Delay
(9) 5o ATE T °V° Welieh 1 g1 & ?
(a) GRETEH (b) Turlt yugw
© <@ () dfEE
The symbol ‘V’ stands for in process chart .
(a) Operation (b) Permanent storage
(c) Delay (d) Transportation
(10) TT3A! =1 1 foga A
(a) a7 =56 =R (b) =afera i = 91
(c) WA Tife =56 =E (d) 3@ i = =
SIMO chart stands for

(a) Similar Motion Cycle Chart

(b) Systematic Motion Cycle Chart
(c) Simultaneous Motion Cycle Chart
(d) Solid Motion Cycle Chart

(11) w"Hugfmz
(@) @& (b) fora-gem eas
(c) Toram = smin (d) Iules @t
Terms related to PERT are
(a) Events (b) Activity Event Network
(c) Activity or Operation (d) All of the above
(12) whifeen og fafu F9e 2 :
(a) Tebetl fshan (b) =&
(c) e ) (@& (©TH
Terms related to Critical Path Method (C.P.M.) is/are
(a) Dummy Activity (b) Event
(¢) Network (d) (a) & (c) both

(13) wmm@?ﬁ%

(a) WIH T + ANAF AT (b) NI SAOTA x A AT
(c) T AT — WAF A (d) I AN + AT d
Total cost is equal to
(a) Direct Cost + Indirect Cost (b) Direct Cost x Indirect Cost
(¢) Direct Cost — Indirect Cost (d) Direct Cost + Indirect Cost
P.T.O.
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(14) 3G - 3ASE ST T ST SITefl 2

(2) I ST AT THA (b) T&a ST

(c) THE Sced (d) i3 &

Product layout is suitable for

(a) Job Production (b) Mass Production

(¢) Batch Production (d) None of the above
(15) fieard wrewiars ?

(a) gl b) <GwwE

(c) e @ (2) & (b) T

Gantt’s chart represent

(a) Schedule (b) Time delay

(¢) Network (d) (a) & (b) both
(16) Werd =913 1 g wdfleh ‘O’ T ST 8 ?

(a) T (b) Trlem

(c) WS @ wEE

The symbol ‘O’ in process chart stands for

(a) Operation (b) Inspection

(c) Storage (d) None of the above

(17) o gt ferweiyo it aeediss e 2
(@ A-B-C,S-D-E,H-M-L
() B-A-C,D-S-E,L-M-H
¢ F-Y-Z,Z-X-§,S-M-T
d T-M-HH-M-T,F-T-C
Techniques of Inventory Analysis are as follows :
(@ A-B-C,S-D-E,H-M-L
() B-A-C,D-S-E,L-M-H
(c) F-Y-Z,Z-X-§5,S-M-T
d T-M-HH-M-T,F-T-C

(18) T— st — = forgoivor & ared
(a) EHIT AFR FHEE (b) 3 frEEn e =
() ordidEmaEieRe () SHG A H BE 6 A
A — B — C Technique stands for

(a) Always better control (b)  Accept best control
(c) Accept best care (d) None of the above
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.(19) WAl &1 Hger T | fr S 2
(a) TG A-3ATH (b) TsFH A-3ATHE
(c) T A-3H (d) 8 E
Lines are balanced in
(a) Product layout (b) Process layout
(¢) Function layout (d) None

(a) oM (b) i Fefw
(c) @G (d) gmH
Flow process chart is used for

(a) Planning (b) Routing
(¢) Loading (d) Follow-up

1) & e fpa Qg ahih S /12 7

(a) Tafy sromaa wd ufire se (b) ol sveraa wa o wre

(c) wrgdt yma wa fafy s (d) 390 § 9 his ot T
Work study consists of two techniques

(a) Method study & labour study

(b) Method study & Work measurement

(¢) Wage payment & method study

(d) None of the above

(22) firr ot A % forg emeda W %0 6 = 3

(a) 16ad (b) 18ad
(c) 20ad (d 2194
The minimum age for attaining a licence for a geared vehicle is
(a) 16 years (b) 18 years
(c) 20 years (d) 21 years
(23) 2 Tl @1 feparft Sfordi | afipa o T @ 2
(@) (b) @
(c) dH (d) =R
Traffic symbols are classified into how many categories ?
(a) One (b) Two
(c) Three (d) Four
(24) WY 9139 &1 3THR
(a) 3TV ITHR (b) & HHR
(c) Trerfig smer (d) 1o IR
STOP sign is having
(a) Octagonal shape (b) Circular shape
(¢) Trianguiar shape (d) Any shape

1084

P.T.O.
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(25) AT I Aah § HY quiE ?
(a) i@ (b) T gE A1 F F W S .
() Tigasifradigg@g (d) eft Y1 o 311 § g R

An event is indicated on the network by

(a) A straight line (b) A number enclosed ina circle or a square

(¢) A dotted line (d) A straight line with circles at the end
(26) aTE i =reré dimn gt aren e fuE @

(a) JACITHS =& (b) wae fag

(c) TS @ (d) TSH W@ IFHA

The road sign showing the width limit of vehicle is a/an

(a) Mandatory sign (b): Warning sign

(¢) Informatory sign (d) Line markings on road

(27) TE.0E.30. I I AW &
(a) FAILIE HHRIHT GEIH  (b) g e FE
(c) JFAIHE W U (d) e weE FeE
Full form of .S.0. is :
(a) International Organisation for Standardisation
(b) International Study Organisation
(c) Interstate Standard Organisation
(d) Industrial Standard Organisation

(28) T Fafernati &y 2

(a) e (b) Gl

(c) Twsitan (d) ST aH

Following are types of tenders :

(@ 1 .imited (b) Open

(¢) Negotiated (d) All of the above
(29) 3T THE % HTY 31 31 2

(a) HE 3T JATEH (b) I 1:@ Frmm

(c) 3aureA A (d) IRE Y B T

Lead time is associated with

(a) Job order production (b) Inventory control

(c) Production planning (d) None of the above
(30) QA1 T 9T U S W He Hud feig

(a) T (b) =R

(c) U= d) ®:

The total conflict points at a junction on both two way roads are

(@ One (b) Four

(c) Five (d) Six (1x30)



MA310 (7 of 8) 1084
"y, e EweEe
Explain the following :
(i) <A I
Driving Licence
(i) wE FETYA T
Human resource development
(iii) S 1 SihT
Classification of Industries
(iv) Iafdar
Entrepreneurship
(v) ustE. fowmm
ABC analysis (2x5)
3. () i TE S @iE A A 7 3% fawar 8 JueEe |
What are the various types of ownership ? Describe them in detail.
(i) e <6 fersrward feream & EwEST |
Explain the characteristics of Management in detail. (5+5)
4. (i) Tl us SeaTE i = wTE Hif | fafirs wehT 3 SicaTeA Al ! aHSST |
Differentiate between wages & incentives. Explain different types of incentive
method.
(ii) et 3 5 T % Hdeal 1 JUH T |
Describe the duties of purchase department in Industries. (5+5)
5. (i) WCUEE ¥ ¥ F1 HEAd & ?Wwwﬁﬁﬁeﬁ@ﬁ%aﬁmﬁq I
What do you understand by depreciation ? Explain any one method to
determining depreciation.
(i) e g3 3 Rl Td AT % 394 ferfan |
Write down the causes and remedies for prevention of Road Accidents. (5+5)
6. (i) geah Uil feram & ST |
Explain the various qualities of leadership.
(ii) et & T @ e $ fafe vl s @ R 7 fopeht oft 3eim | greaTse 6
i I Hda 12 ?
What are the various methods of recruitment and selection in Industries ? What is
the role & duties of supervisor in an Industry ? (5+5)
7. () Tl v fafiag | o Ao @ SATRC |
Write objectives of Inspection. Describe advantages of Quality Control.
(if) SR, Yoo Ud EeA | IR e hif |

Differentiate between Administration, Management and Organisation. (5+5)

P.T.O.
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8.

Write short notes on the following : ’
(i) bt qee
CPM Technique
(i) 92 -t
PERT Technique
(i) "3 Atafa=T=
Plant Layout (4+4+2)

(i) uftaTe wsha 91 i foman | Twsmse |
Explain Operation Process Chart.

(i) TTREH ¥ T % fere Rer- R geasl i st Bidt R Tarse | wY @ aEed &
SIERCRIIERIE R L

What are the essential documents required for the formation of partnership ? Also
explain advantages & disadvantages of partnership organisation. (5+5)




